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1. In this chapter, CC mention two lexical relations: meronymy and (taxonomic) hyponymy (the opposite of hyperonymy). You might have to look up these terms. Give an example of a word that is a meronym of another word and an example of a word that is a hyperonym of another word. 

2. What is the difference between the traditional conception of polysemy and the one that CC propose?

3. Give one example to illustrate attentional autonomy (mutual antagonism) of sense units, one example to illustrate relational autonomy of sense units and one example to illustrate compositional (or collocational) autonomy of sense units. 

4. CC say that full sense units are ‘resistant to unification’, but what does this mean? Give an example to illustrate. 

5. For two sub-sense units, show that they do not display antagonism.

6. For the same two sub-sense units, show that they do display relational autonomy and compositional autonomy.

7. The word child has two senses: ‘young human’ and ‘son or daughter of a human’. Are these senses full sense units or sub-sense units? If the latter, are these senses facets or microsenses? Explain your reasoning. 

8. Explain what appears to be going on in the following two sentences: 

I’m not interested in the layout of the Harvard campus; I’m interested in the university itself. 

?? I’m not interested in the Harvard graduate program; I’m interested in the university itself.
9. CC argue that microsenses (e.g., putty knife, bread knife and pocket knife relative to knife) are not the same thing as contextual modulations (e.g., male friend and female friend relative to friend). What is their evidence for this claim?

10. What does entrenchment have to do with the continuum on which vague words and ambiguous words are two extremes? (See the top of p. 132.)

11. It is often said that in cases of unexpressed verb participants the ‘zero’ element has a constrained interpretation. For example, I’ve stopped drinking means ‘She doesn’t drink alcohol’ rather than ‘She doesn’t drink liquid’. However, in the following sentence, the ‘liquid’ reading is salient: If your guinea pig stops drinking, call the vet. What does this observation have to do with microsenses?

12. What is odd about the following series of modified nouns, in terms of ways of seeing: *a delicious glass bowl of soup, *a skillful, charming sketch?

